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 Products of Top Heavy Fractions and Integers - Guided Lesson Explanation 

Explanation to #1 

To multiply a fraction by a whole number, write the whole number as a 
fraction with same numerator and 1 as the denominator     

Write 3 as a fraction. 

3 ൌ 	 ଷ
ଵ
        

Multiply the numerators then multiply the denominators. Simplify the 
answer. 
 
ଽ

ଶ
ൈ 3  =   

ଽ	ൈ	ଷ

ଶ	ൈ	ଵ
    =  

ଶ଻

ଶ
  = .13 ଵ

ଶ
 

 
This answer is in simplest from.     
 
 
Explanation to #2 

                  
ସ

଻
ൈ	        =  

ଷଶ

ହ଺
        

The bottom number of a fraction, the denominator, tells how many equal 
parts we want to divide the whole number into. The top number, called the 
numerator, tells how many of the denominator’s parts we have to work with.  
 
If we divide the numerator and denominator by the fraction, we can 
determine the missing parts. 
 
Numerator =  32 ÷ 4 = 8 
Denominator =  56 ÷ 7 = 8 

 
଼

଼
 will be the missing fraction. 

 
 



Name _____________________  Date _________________________ 

Tons of Free Math Worksheets at: © www.mathworksheetsland.com 

Explanation to #3 

a. Step 1) First we look to see what is being asked of us. 

଻

ଵ
ൈ 4       

To multiply a fraction by a whole number, write the whole number as a 
fraction with same numerator and 1 as the denominator. 

Write 4 as a fraction. 

4 ൌ 	
ସ

ଵ
        

Multiply the numerators then multiply the denominators. Simplify the 
answer. 
 
଻

ଵ
ൈ 4  =   

଻	ൈ	ସ

ଵ	ൈ	ଵ
    =  

ଶ଼

ଵ
  = 28     This answer is in simplest from.   

 
b. Step 1) First we look to see what is being asked of us. 

8 ൈ	ହ
଺
        

To multiply a fraction by a whole number, write the whole number as a 
fraction with same numerator and 1 as the denominator. 

Write 8 as a fraction. 

8 ൌ 	 ଼
ଵ
        

Multiply the numerators then multiply the denominators. Simplify the 
answer. 
 

8 ൈ	ହ
଺
   =  

଼	ൈ	ହ

ଵ	ൈ	଺
    =  

ସ଴

଺
  = 6  

ସ

଺
 =  6  

ଶ

ଷ
 

This answer is in simplest from.     


